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21 BHZERDODLDOICES UCHIEE U,
int ans=1, a=2, b=3;
ROBNZRTUILEBDOEL ans DIEZE RS0,

(1) ans = a + b;
(2) ans = a + a;
(3) ans = 2 * ans;
(4) ans = b % a;

(5) ans = b / a;
=22 BHZRODEIDICES UL,

int a;

RDEXNZRTULEDEH a DEZEZE ),
(6) a=(5-2);

(7) a = (int)1.0;

(8) a = (int)2.8;

(9) a = ((int)(2.5 + 3.4));

(10) a = ((int)2.6) * 2;
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int ans=3, a=2, b=1;
RDSX=RTUILEDEH ans DEZS AU,
(11) a = b = ans;

(12) b = ans = a;

(13) ans += a;

(14) ans = ++a;

(15) ans *= ans;

214 BHZRODEIDICEE UTCHEHME LI,

int a=2, b=3;
ROENERTUEBEBEA (true 213 false) EBZE 0N,
(16) System.out.println(false);

(17) System.out.println((a - b) == 1);
(18) System.out.println(a >= b);

(19) System.out.println((b % 2) == 1);

(20) System.out.println((a = b) != 2);
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int a = 15;
NEBEFZRCROZI— FEERGTUCERENZEEZRSV), CCT
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(1) System.out.println( "CAICHIE" );

(2) System.out.println( "RS" + a + "IFCTI" );

(3) System.out.println( "20 FEXTHE" + (20 - a) + "HTI" );
(4) System.out.println( a + "FHMDEE" );

(5) System.out.println( "3ptBH0C" + a + 3 + "pt TI" );
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(6) System.out.println( a + a + "I[F" + a + "M2fETI" );
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(1) 2

(2) '1'

(3) "hello"

(4) true

(5) ©x5

(6) o5

(7) '¥n'

(8) 1.25
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boolean a=  |;

(1) if(a)System.out.print("A");

(2) if(a)System.out.print("B"); else System.out.print("C");
(3) if(a) System.out.print("D"); System.out.print("E");
BmESH

1 (Egaptrue ) 2 (Bgaptrue pEx) 3 (Egaptrue pex)

(z@anfalsepex) (@ anfalsepex) (@ anfalse pex)

(& 5] RO DZERICADBLRFEBYERRED SRV, AU

BSDERICIFICEBDINADFET, (%25t 16)
(RICEEY DEcat)
nE(C 1 )E( 2 IDBEERASNET, (1 )IFEEDEREZRT

ELSTHO. (2 HFEEICEONDETI, ( 1 )ICIEIIEDREE.
8. FEDONAESEEFORREEFRENDDET ., BREEFDEC
SE( 3 YTRESNET. (1 H)EFZD( 2 YDHITKD, ( 4 )
BEF. (5 )BEEF. SEBEEFICRBISNET, BIZIE 1VD1X
VHEEFE( 4 )VEEFTHD., NEEEFE( 5 )EEFTI,

import java.io.*;
class Intermediate6_0{
public static void main(String[] args) throws IOException{
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));

int income, spend;

System.out.println("IRAZAD LTI ZE"); _
income = Integer.parselnt(br.readLine()); o <DiFEEIC
System.out.println("SSHEEAD LT IEEL\"); BEX L&D
spend = Integer.parseInt(br.readLine()); J
Y ommesm
}
}
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